14)

466

5



> A
A & 0l & AF 2 E A A
M EZush
M NG HE Y 2%
oelr HE DSY 23 (B9 ®R)
(o
SN BA(SA) - MEAY - BES 0l &t o il Bl DE2
E=REamE==gn; 58,965,212 48,188,411 10,776,801
= 4,500,000
< 1,108,836
Al 53,356,376
29 =235 2 2F 36,132,341 31,427,000 4,705,341
2L nEd == 130,000 0 130,000
S HSEMY NUBIEBEEEEM IS H72EY 130,000 0 130,000
207 RO ] 130,000 0 130,000
01 A3 39| 130,000 0 130,000
OgUS AZFAY OMUIEIEHE A OIS Y 130,000
EE=SH dEMY 6,638,200 21,477,000 A 14,838,800
HUd SHEE MG 6,635,000 4,030,000 2,605,000
308 XX EHHSOIA 6,635,000 4,030,000 2,605,000
07 X HH2ZESE S 6,635,000 4,030,000 2,605,000
OZUE =sHdE AL 6,635,000
HoAY Hd2F8 X2 3,200 0 3,200
201 £Br2d| 3,200 0 3,200
01 At 22l 2,500 0 2,500
OFGETAY =2 23 X2 2,500
02 2324l 700 0 700
Oet=23E&3 3l 200,000& = 13l 200
Oistw ESsatal 3l 500,000& * 13 500
29EE 2H 29,364, 141 9,950,000 19,414,141
AL SHEE 29 29,364, 141 9,950,000 19,414,141
308 XX EHSOIA 27,709,228 9,300,000 18,409,228
113/ 2S0HUHeBHEAEALS I 27,709,228 9,300,000 18,409,228
OXEFHE RIUI(MNSLEBALEGLF=ZAISA
SIEESH) 27,709,228
403 MHXSHHSA=0l& 1,654,913 650,000 1,004,913
02 SO 2SOlCHst A2 X 2 A I 1,654,913 650,000 1,004,913
ORE XA FSH (AREIE, SIIH S) 1,654,913
SWAE NESHEAN AL 22,731,335 16,661,011 6,070,324
= 4,500,000
< 1,108,836
Al 17,122,499
nsdy KA 120,979 139,544 A 18,565
< 50,000
Al 70,979
s sA2 7,306 7,544 A 238
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EA: EZnE N
M HAX DESATA AL
e TAIRSEMA A (2 &HH)
- _ _ RE]
SA BB (3H) - NREAY - B Ol At o %@ﬁ HRE2
201 B9 4,400 4,400 0
01 AP 22| H| 4,400 4,400 0
OnNsotdEoN A
100,000 * 11¥ * 43| 4,400
WS 0lsEH S&A 4,457,236 3,801,200 656,036
= 1,058,836
Al 3,398,400
WEAXX OlsHO & Ao} 29 1,600 1,200 400
201 et d| 1,600 1,200 400
01 A2t 2| bl 1,600 1,200 400
ONEANOISHOAZE NoSIAs HAag
100,000 = 8% * 23| 1,600
WEXAX OISKANIMEH 2 4,363,636 3,800,000 563,636
=} 1,003,636
Al 3,360,000
307 QI2t0| ™ 4,363,636 3,800,000 563,636
= 1,003,636
Al 3,360,000
05 QIZtREZ 4,363,636 3,800,000 563,636
OuUsS2X OISXNJMEH 2% 4,363,636
& 1,003,636
Al 3,360,000
WEAUL EEHWELSH (YY) ¢ 92,000 0 92,000
= 55,200
Al 36,800
405 XHA&HF S HI 92,000 0 92,000
= 55,200
Al 36,800
01 XA 2 ZF S| 92,000 0 92,000
OQuNEXL EgnNnEscH(xa)2 92,000
& 55,200
Al 36,800
EHOAIAE = 12,021,330 6,821,631 5,199,699
= 4,500,000
Al 7,521,330
HEUNEAAEH EANSH 626,835 609, 641 17,194
201 LBt | 626,835 609, 641 17,194
02 Z2=2=24%4| 626,835 609, 641 17,194
OFHNE SHea 26,080,000& * 1274 & 312,960
OXFBEHA E0R2 7,200,000 = 12J0H€ 86,400
OXSHON Sa22 17,392,000€ = 12001 €& 208,704
OROZA S22 22,000& = 120H€ 264
OSEEHE sSMea 378,000& = 1200 € 4,536
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2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MEAY - BES 0l &t o il Bl DE2
Ostd= 0= 4403 * 2,64600 * 1201 E 13,971
OISHAZEALAE 29 41,000 40,000 1,000
401 Al HIZ 2018 41,000 40,000 1,000
01 A& HI 41,000 40,000 1,000
OOISHAFBEAAE 2Z(98MH) 41,000
A0EEZANE =8 89 200,000 0 200,000
207 RO 200,000 0 200,000
01 A3l 200,000 0 200,000
OABEZAAE =8 &9 200,000
ADEEAMEE S 29Y 1,200 0 1,200
201 Let249] 1,200 0 1,200
01 At 22l 1,200 0 1,200
OAMEZANAMEES ST
100,000& = 6H =« 23| 1,200
FTREBSAIBAE HAE 24 56,000 45,600 10,400
308 XtXIEHHSOIA 56,000 45,600 10,400
N 3IN2SHUE3 LS A 56,000 45,600 10,400
OFsd =24 56,000
BHAEZ O 2Y 60,303 47,618 12,685
201 €24 60,303 47,618 12,685
01 At 22l 60,303 47,618 12,685
OHAZ=Z N RU(ADLEANEISEHEEH HAH
L SHEHLI]) 60,303
— X Z=z 0 24,0002 » 833% 19,992
—AERAHE 314,900& 30X 9,447
—csAMAHE 480,000& = 23X 11,040
—pPCHZE 25,0003 » 780% 19,500
—EgsLE 324
NXH TS =AY 7,500,000 2,500,000 5,000,000
= 4,500,000
Al 3,000,000
401 A& HIZ 201 I 7,500,000 2,500,000 5,000,000
= 4,500,000
Al 3,000,000
01 A& HI 7,350,000 2,470,000 4,880,000
OFEHASAAE 25 7,350,000
= 4,410,000
Al 2,940,000
02 Zeltl 150,000 30,000 120,000
OFHAUSAIAE 25 22l 150,000
= 90,000
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E=ResamE==gn;
HUN DESSAUCTA A&
HoAAY S

SH-HH . B(3H) - HBAMY - B 0 & o SSa H RS2
| Al 60,000
ADIEAIEISEHEH A SA22 207,992 209,732 N 1,740
201 Bt A | 207,992 209,732 N 1,740
01 AP 22l Yl 21,032 21,092 A 60
ORolAH sA22bl 200,000& * 12& 2,400
O8I ¢tz 60,000& = 12& 720
O3JI&8ED Ldx& 26,000& = 12& 312
OFAES Y A2 228 2
300,000& = 12& 3,600
OFANEZ A2 S4H| 14,000
02 352494l 186,960 188,640 A 1,680
O&IIL2 ¥ MA 145,400
- &3 11,000,000& * 12& 132,000
—tAe2 1,000,000& = 12& 12,000
— Aol ER2 100,000& * 128 1,200
—NERLIES 200
OAI&&Hl A2l 41,560
—dIEHAIE S&lbl 80,000& = 12& 960
— A AHEH KX 5,000
— AYAIE SX22 600,000& = 23| 1,200
— gy X2l 2,500,000& =* 23] 5,000
—EAIAHZE S22 7,200
—3HAEA 1,850,000& * 123 22,200
ADEAEISEAEH AIAE 28 & KX 22 1,931,000 1,933,000 A 2,000
401 Al HI 2L 2 0HHI 1,931,000 1,933,000 A 2,000
01 A& HI 1,931,000 1,931,000 0
OADIEANEISEHH EESMAAY RAE 641,000
OUSAMNSHOAHAAE RX 2 340,000
OHAABAIAHE SXNE$ 500,000
OXNs8EuUSANAYE SANE 200,000
OXINEAY SAES 250,000
HASZE &5 L HEAY 900,000 900,000 0
401 Al HI YL 2 0HHI 900,000 900,000 0
01 A& HI 900,000 900,000 0
OBHAEZ I 0 2 &X
7,500,000& * 86JH 2 645,000
OfHAs2E 20 & &X 172,000
— Uty HH 9,500,000& * 1694 4 152,000
— oy dH 20,000,000& * 1JH 24 20,000
O&EIIZ A 83,000
HASZE SX B 240,000 270,000 A 30,000
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2N
X ZH -
L= B

el

E=ResamE==gn;
HUN DESSAUCTA A&
HoAAY S

= _ — d =
SN BA(SA) - MEAY - BES 0l &t o il Bl DE2
401 Al HIZ 201 I 240,000 270,000 A 30,000
01 A& HI 240,000 270,000 A 30,000
OoHAs2dE | E= 240,000
HAsS2ZE 22 257,000 266,040 A 9,040
201 L4l 257,000 266,040 A 9,040
02 =224l 257,000 266,040 A 9,040
OHAZEHUNI HIIRSB
21,416,660& = 1201 & 257,000
WESHMEAL &5 6,108,490 5,379,636 728,854
WsSANEsE 24 789,000 533,636 255,364
201 £B-2%H| 789,000 533,636 255,364
02 22| 789,000 533,636 255,364
OuNEANEE 24l 789,000
—NES Y HBE M2
39,500,0008 * 128 474,000
— OJls ZA3t0ct 224
2,500,000& * 12604 2 315,000
nEMsAE 5 X 1,280,000 680,000 600,000
401 A& HIZ 201 Y| 1,280,000 680,000 600,000
01 A& HI 1,280,000 680,000 600,000
QusSdss Ax(uUxz)
30,000,000& * 1004 2 300,000
Otteldls s & &x(uxz)
100,000,000& = 504 & 500,000
OBdils SHotl BEXEX X (EHER) 50,000
OLZ MadEE WM(RAZ)
5,000,000 * 1090 2 50,000
OL= usSAUSHOAI RH(WUIZ)
6,250,000& * 1690 2 100,000
OAZEOfO SBA5T X (HBHEE)
2,000,000& * 2504 & 50,000
ORQUWEHEFH AA(LDHA) 230,000
WSASAE RAES 737,500 602,000 135,500
401 Al HI K 201 737,500 602,000 135,500
01 A& HI 735,500 600,000 135,500
o3Il FANE=+ 735,500
03 A& S THHI 2,000 2,000 0
OdzJl RAE+ 2,000
NEANE RANES 724,000 672,000 52,000
401 AIEHIZL 201 724,000 672,000 52,000
01 A& HI 720,000 670,000 50,000
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2N
X ZH -
L= B

el

5 - 4
SA BB (3H) - NREAY - B Ol At o ﬁ}lgﬁ HRE2
OQUEXUHMAIEE KANES 720,000
03 A2 HH]| 4,000 2,000 2,000
OQUSUHIMAIEE FANES 4,000
&M B A 1,704,000 1,502,000 202,000
401 AlEHIZL 2 0HY| 1,704,000 1,502,000 202,000
01 Al 1,700,000 1,500,000 200,000
OXH 2 2 AL 1,700,000
03 AlE 21| 4,000 2,000 2,000
ORE M DAHEIAIE S HAF =222) 4,000
HEl0IES Y AERX E 300,000 300,000 0
401 Al HI L 2 0HHI 300,000 300,000 0
01 Al Hl 300,000 300,000 0
ONeloIEs3Y ANE RNES
5,000,000 * 60JH 2 300,000
HASAE HAz2 573,990 570,000 3,990
201 et Y| 573,990 570,000 3,990
02 B232%H| 573,990 570,000 3,990
OMAZ2Y ZoBe
95,665,000 * GO H A 573,990
HHSHAY (BT NEY) 101,536 100,400 1,136
JlE&ddl 101,536 100,400 1,136
Jl2 &4l 101,536 100,400 1,136
201 B9 55,836 51,700 4,136
01 AP 22| H| 55,836 51,700 4,136
Ogbt4=24| 1,300,000 » 27%H 35,100
OF=1=1s] 8,000& * 27 * 84!l x 128 20,736
202 o4 | 32,400 36,000 A 3,600
01 2L I 32,400 36,000 A 3,600
OJI2ge =30yl
20,0003 = 279 x hY x 12& 32,400
203 & R =&t 13,300 12,700 600
01 JI22HE Y FF&H| 8,500 8,500 0
Oo=2% 8,500,000 * 1 8,500
04 EASHEIRFAH| 4,800 4,200 600
OFMSY gFF4A 400,000 = 12& 4,800
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=
N & 0l & At g Al
HEsunsu
sus 4
S+ 2% (sl &)
(o
SA - I BR(EA) - NRAY - BY 0 &t il HIDE2
mE==ni; 50,376,078 38,791,569 11,584,509
= 1,485,900
= 296,000
< 1,060,152
Al 47,544,026
ns 54 50,326,102 38,747,649 11,578,453
= 1,485,900
= 296,000
< 1,050,152
Al 47,494,050
2 X 47,937,755 36,861,340 11,076,415
= 1,158,600
= 296,000
< 924,265
Al 45,558,890
2x8H |23 NA 8,500,000 8,500,000 0
307 glztol & 8,500,000 8,500,000 0
09 2+HAHEEXS 8,500,000 8,500,000 0
O2+=glH RIIHE2x= XA 8,500,000
AMUHA THEX R 3,790,756 3,406,306 384,450
308 XM S0H 3,790,756 3,406,306 384,450
07 X HH2L2ES = 3,790,756 3,406,306 384,450
OALIHA THAEX A 3,790,756
2ol A =330 2 1,136,000 5,562,000 A4,426,000
308 MHXIHMSOIH 1,136,000 5,562,000 A4,426,000
07 X SHH2AES S 1,136,000 5,562,000 A4,426,000
OZgA =Z3gHM 24 1,136,000
SHESZHA 2d2E3 N 770,000 700,000 70,000
=) 231,000
Al 539,000
307 glztol & 770,000 700,000 70,000
) 231,000
Al 539,000
09 2+FAHEXS 770,000 700,000 70,000
OsHESEH A 2d2&=s X 770,000
& 231,000
Al 539,000
+=CASEYR:S B5E £HIFES 6,810,989 6,516,311 294,678
308 XXM S0IH 6,810,989 6,516,311 294,678
07 X SHH2L2ES = 6,810,989 6,516,311 294,678
O=kdEEge:s asg & 6,810,989
MadA 29d X 235,000 260,000 A 25,000
=) 94,000
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sy
T HEnsE 84
DR BX

= - — SHE|
SN HE B (BH) - HRAY - BES e Hl D= 2t
Al 141,000
307 izl & 235,000 260,000 A 25,000
< 94,000
Al 141,000
09 2-HAHAEXS 235,000 260,000 A 25,000
OMAHA 2gH K& 235,000
< 94,000
Al 141,000
HaHA S8 X3 ,300,000 0 2,300,000
= , 150,000
< 172,500
Al 977,500
402 RI2HXt20l ™ ,300,000 0 2,300,000
= 1,150,000
< 172,500
Al 977,500
02 QI2t X2 AL E = (01X THE) ,300,000 0 2,300,000
OM&HA Tdl XA ,300,000
= , 150,000
< 172,500
Al 977,500
ILHHA 2SEM 2 2 AHIA HE K& 555,612 547,051 8,561
308 A EHHSOIA 555,612 547,051 8,561
07 XXM RES 555,612 547,051 8,561
OAUHA 2S5HH 2 & AElA e X 555,612
HALH SSHA 2HZBES N 800,000 800,000 0
307 glz2+ol & 800,000 800,000 0
09 2-HAHAEXS 800,000 800,000 0
OHALd ZIHA 2HABEZ XN 800,000
F2HA HE X 800,000 800,000 0
307 21201 A 800,000 800,000 0
09 2+=HAHEEXS 800,000 800,000 0
OOt MEX & 800,000
FEHA 3AEQI3E BEEM 107,800 107,800 0
308 XtXIEHH SOl A 107,800 107,800 0
07 XXM RE= 107,800 107,800 0
ObtsHAs AUz go 2&EEH 107,800
EUHEZEHA 2dH N& 20,000 20,000 0
307 glz2tol & 20,000 20,000 0
09 2HAHEXS 20,000 20,000 0
OBHEZSEA 298 XA 20,000
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2N HESLSH
g Hsus 54

el 24K 22X (sl &)
- _ _ RE]
SA BB (3H) - NREAY - B Ol At o ﬁ}lgﬁ HRE2

EHAl JIEHZ)| ShlEs XS 27,309 27,307 2
== 10,241
Al 17,068

307 2Iz2t0| A 27,309 27,307 2
o= 10,241
Al 17,068

09 2L AHEXZ2 27,309 27,307 2
OEIAl ItEELD|] SdlE XA 27,309
& 10,241
Al 17,068

Al JIES=SE K& 209,788 209,788 0
& 62,929
Al 146,859

307 giztol A 209,788 209,788 0
< 62,929
Al 146,859

09 2LHHEXZ 209,788 209,788 0
OEAl IIEZH =5 XN& 209,788
= 62,929
Al 146,859

228 EHA 29 70,000 70,000 0
g 35,000
Al 35,000

307 212t0| & 70,000 70,000 0
Fag 35,000
Al 35,000

09 2L AHEBEXZ2 70,000 70,000 0
OZ238 A 29 70,000
Fag 35,000
Al 35,000

T W2 29 522,000 0 522,000
g 261,000
Al 261,000

307 2Iz2to| A 522,000 0 522,000
Fag 261,000
Al 261,000

09 2LHAHEXZ2 522,000 0 522,000
OZ2Z28 HA 29 522,000
hag 261,000
Al 261,000

ZAHA HAMNSHSEX &= I 17,200 19,351 A2,151
= 8,600
& 1,290
Al 7,310

307 QI2t0| ™ 17,200 19,351 A2,151
= 8,600
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2N
UERE 84

el

X ZH
S =

snsn

2+ 22X

= _ — d =
SN BA(SA) - MEAY - BES 0l &t o il Bl DE2
< 1,290
Al 7,310
09 2+HAHEEXS 17,200 19,351 A 2,151
OZIHA HAXMSHMsSEX E= X 17,200
= 8,600
< 1,290
Al 7,310
HOIEAl 2+3AMA MM X 370,440 263,400 107,040
< 264,600
Al 105,840
307 21201 A 370,440 263,400 107,040
< 264,600
Al 105,840
09 2+=HAHEBXS 370,440 263,400 107,040
OHYQIEAl 23 AL HRMHE K& 370,440
< 264,600
Al 105,840
N8k BAl &8 XI& 12,960 12,960 0
307 glz2tol & 12,960 12,960 0
09 2HAHEXS 12,960 12,960 0
ONEs Al 203 & XA 12,960
sHESZHA 2L TR 33,750 0 33,750
< 10,125
Al 23,625
307 gl & 33,750 0 33,750
< 10,125
Al 23,625
09 2+=HAHEEXS 33,750 0 33,750
OsESEHA 2 X& 33,750
< 10,125
Al 23,625
WRIHA 22H N 7,600,000 7,600,000 0
307 21201 A 7,600,000 7,600,000 0
09 2+HFAHEXS 7,600,000 7,600,000 0
OWRHA 2ZH XA 7,600,000
I 23HA 2EX& 12,084,143 1,227,386 10,856,757
308 AHAIEHHSOIA 12,084,143 1,227,386 10,856,757
113/ 2SoHUHSBHEAEALS I 12,084,143 1,227,386 10,856,757
OZI: SaHA(HY&2E =3gH) 29
A& 12,084,143
BAl =& S22 A(CCTV) BAM X 349,110 0 349,110
< 77,580
Al 271,530
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sy
T HEnsE 84

D E2gA Ex

- _ _ RE]
SA BB (3H) - NREAY - B Ol At o ﬁ}lgﬁ HRE2
307 2Iz2to| & 349,110 0 349,110
== 77,580
Al 271,530
09 2LHAHEXZ2 349,110 0 349,110
QA =5 SHBIA(CCTY) M X 349,110
= 77,580
Al 271,530
D29 HAGH EEX A 814,898 0 814,898
308 XAHXIGHH SO0l & 814,898 0 814,898
07 AIXISHHZ2ES 2 814,898 0 814,898
ODZLH19 HASEH EE XA 814,898
nNEAANEE 2,388,347 1,886,309 502,038
= 327,300
o= 125,887
Al 1,935,160
SHEE HASLESAIAL 24 47,624 46,890 734
308 MXISHHSOIA 47,624 46,890 734
07 MHXSHH2AESZ 47,624 46,890 734
OFTHEH=E HASRE=ZSAA ¢4 47,624
ZAHA 2220/0H0] 2= N 79,323 69,242 10,081
= 23,797
Al 55,526
201 et d| 79,323 69,242 10,081
o 23,797
Al 55,526
02 2224 H| 79,323 69,242 10,081
OZEEHA 22200 2= NE 79,323
= 23,797
Al 55,526
DA, BXEE, sHE 2EHA L TAE 20,000 20,000 0
£29 25493 IA 8Y
207 A OH 4| 20,000 20,000 0
01 24| 20,000 20,000 0
OtlsHA B d & sHE 2EHA & 2
S 32 XA 24 20,000
QYHEIE BEX 30,384 23,132 7,252
307 QI2t0| ™ 30,384 23,132 7,252
02 QI2tAAMAIE E =X 30,384 23,132 7,252
ORYH2&Xs BxX 30,384
zus E2RFN e A2 2,816 2,724 92
201 et d| 2,816 2,724 92
02 E222%H| 2,816 2,724 92
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2N HESLSH
g Hsus 54

= _ — SHE|
SN HE B (BH) - HRAY - BES Gl Hl D= 2t
0l & o
OsFHl 1,346& = 1004 =« 12& 1,616
Oxtg KAl 100,000& * 12& 1,200
sns X 86,350 13,620 72,730
201 Let249] 83,350 10,620 72,730
01 At 22l 83,350 10,620 72,730
OdlAL =X nEXJAXE X225
330,000& = 181 59,730
Ollsns 3¥s: 10,000
ORAZ = AUZBIE =3 10,0008 » 128 120
Ofld 2 23 ABE 500
ONzZ4 WSHl XNIAMY IMS
200& = 40,0000H 8,000
Odz4d nsHl XNIAMY 222 HA
500& = 10,0004 5,000
203 YR =&l 3,000 3,000 0
03 Al Z=XH R =AY 3,000 3,000 0
Ollsns g2=a 3,000
g2 "8A H2H 29 25,384 35,200 29,816
307 glz2+ol & 25,384 25,200 184
05 RIZt2E = 25,384 25,200 184
Odgx =il & 29 25,384
EAISXIO =0 X ALY 13,000 12,000 1,000
< 3,900
Al 9,100
401 AIEHI L 201 13,000 12,000 1,000
< 3,900
Al 9,100
01 A& Hl 13,000 12,000 1,000
OHAISX &0 EX ALY 13,000
< 3,900
Al 9,100
AMUWHHA 3200l &l 75 At 109,440 93,784 15,656
201 £B-2dH| 109,440 93,784 15,656
02 =224l 109,440 93,784 15,656
OAUHA 2320100 &0 25 ALY 109,440
HAE WEH Ad A 747,203 841,870 A 94,667
308 XXM SO0l A 747,203 841,870 A 94,667
07 IXNSHHARE = 747,203 841,870 A 94,667
020224 #A4E wsEH X& At 747,203
ZHLEWSIHEALY 654,600 444,000 210,600
= 327,300
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2H: HELE
g Hsus 54
AN

ool DERNEEY CER-ED
= _ — d =
SN BA(SA) - MEAY - BES 0l &t o il Bl DE2
< 98,190
Al 229,110
308 XX EHHSOIA 654,600 444,000 210,600
= 327,300
< 98,190
Al 229,110
113/ 2SoHUHeZAEEALS I 654,600 444,000 210,600
OFHLdENSIHEAMS 654,600
= 327,300
< 98,190
Al 229,110
BAI 2 B2 AIAE(TIMS) S AL 16,823 13,747 3,076
308 XtXIEHH SOl A 16,823 13,747 3,076
3 2SOHeE & X 2 E A I 16,823 13,747 3,076
OHANSHHB A AAE(TING) S ALY 16,823
nsetd EAMAHE 38,400 28,800 9,600
301 LerBAF 38,400 28,800 9,600
09 SAEHIX A S 38,400 28,800 9,600
ORE2FIa nEZMAS S A
8,000& = 20Y = 20 » 123 38,400
BAISXIU Al SXE= 17,000 5,000 12,000
401 AIEHI L 201 17,000 5,000 12,000
01 A& HI 17,000 5,000 12,000
OHASXUH AE SXES 17,000
24 WSHl XEAY 500,000 0 500,000
201 Let249| 500,000 0 500,000
01 At 22l 500,000 0 500,000
OuWEIE ML AIAEH 0182 500,000
HE2IZH(HERSH) 49,976 43,920 6,056
Jl2 &3l 49,976 43,920 6,056
JlE&l 49,976 43,920 6,056
201 £B-2%H| 30,056 26,520 3,536
01 At 22/l 30,056 26,520 3,536
Oger==EH| 1,000,000& * 179 17,000
O= &l 8,000& = 17 * 84l  12& 13,056
202 04 Hl 16,320 14,400 1,920
01 = LH 4 HI 16,320 14,400 1,920
OJIegs® =80l
20,0003 = 1798 = 49 ~ 123 16,320
203 YR =&t 3,600 3,000 600
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——
N = 0 & AF S 99 N A
EX: F=x2el
M HMHAH| (=X W)
¢ =gl (chel & 9l)
- _ _ RE]
SA BB (3H) - NREAY - B Ol & o4 %@ﬁ HRE2
ZF= X2l 6,226,620 7,205,862 N979,242
HESHAY (=22l ) 96,620 105, 862 N9, 242
Jl2 &l 96,620 105, 862 N9, 242
Jl2&H| 96,620 90, 112 6,508
201 et Y| 35,360 33,592 1,768
01 AP 2t 2] H| 35,360 33,592 1,768
Ogt4L2Y| 1,000,000& * 20" 20,000
o=l 8,0008 * 20Y = 84! x12& 15,360
202 04| 55,920 51,360 4,560
01 2L Hl 55,920 51,360 4,560
OJleg24ss A
20,000& = 20¥ = Hhe * 12& 24,000
OJl2e a8 A (HE)
20,000& = 199 7Y x12& 31,920
203 R F&d| 5,340 5,160 180
04 EASHEIRFAH| 5,340 5,160 180
OBA2g9g2=&8Y| 445 0009 * 12€ 5,340
MESS(F=zel) 6,130,000 7,100,000 A 970,000
WEAHA XK= 6,130,000 7,100,000 A 970,000
JIEISHEE =2 6,130,000 7,100,000 A 970,000
701 JIEISI HSEE=2 6,130,000 7,100,000 A 970,000
01 JIEIS HE =2 6,130,000 7,100,000 A 970,000
OlEZEEY S&sFNE =4 1,300,000
QLUAR SRR (F2) 2Y9=IHE =4 4,230,000
OUARAX R (F9) 2E=UE X4 600,000
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—— A
N = 0] &F AF S & AN A
A S22l
u: GSHel I
2 XAsSX 22AY X (2 &HH)
(o
SA BB (3H) - NREAY - B Ol At o %@ﬁ HRE2
s X222l ot 11,720,836 11,179,193 541,643
Asxp2tel 8= 11,597,497 11,057,711 539,786
ANEX 22AS XS 14,040 2,000 12,040
ANSX 2elAg 892 =& 12,040 2,000 10,040
201 2Et2A Y| 10,040 0 10,040
01 AP 2t 2] H| 10,040 0 10,040
OXS X 2elAty DEAISE A A A 5,040
— DYHAIE X XNAE EXo
240,0008 * 1502 3,600
— QHAIE X XA 28 MARE
60,000 * 4Al2F = 221 % 3L 1,440
OXsxHZelAlY QB DEfE s22 M
100& = 10,00000 * 2= 2,000
OXrgael oHLHA M A 1,000 = 3,0000H 3,000
203 € R F&d| 2,000 2,000 0
03 AIEHF=AH 2 F X H| 2,000 2,000 0
OXNSX 22gFR =& 2,000
ANSDNASSHZLR2RA HHEESEE 2,000 0 2,000
201 et 2,000 0 2,000
02 23244 2,000 0 2,000
OXNHUIALSGZRRJA HEABSEE 2,000
214 11,501,100 11,001,700 499,400
S22+ 1,100 1,700 A 600
201 et d| 1,100 1,700 A 600
01 AR 22l ] 1,100 1,700 A 600
O0IE L AMSESIHE =2 50,000& = 12&€ 600
Oolg 23 29 A28 500
2490 IIEBEX2X & 11,500,000 11,000,000 500,000
307 giztol A 11,500,000 11,000,000 500,000
09 2LHHEXZ 11,500,000 11,000,000 500,000
O2£g%8d *IIEx2 X& 11,500,000
AEHEE 22 82,357 54,011 28,346
ANHEFURH HH2H 82,357 54,011 28,346
201 et 82,357 54,011 28,346
01 AP 2t 2] H| 69,853 46,223 23,630
Ogttf2Y| 31,197
—SEZ S UIAANA 70,000 = 1408t A 9,800
— WEHE DXA 70,000 * 2 x 38+ A 420
— A ARE 1,113,500 = 204 2,227

483




2N NSl
MM sAel 3
o9l XSS 2l (29 a )
SH-HH . B(3H) - HBAMY - B 0 & o SSa H RS2
— A ARE 135,000 = 304 = 83 3,240
—0EsI AEE 100,000 * 2CH = 43| 800
—TElEe ElY 250,000 = 110§ * 33 8,250
—JIEHLI| =FH 3 200,000& * 12& 2,400
— 2J|FED| dl&= 40,0008 = 204 x 12& 960
— MSoHAEIIH MEHE 4403 = 5,000& 2,200
—IJHSEUAL 2/HS 900
OXNHFESEAA CCTVEHIE S 33,0008 * 128 396
OO0I&E X HS T £ 0l 38,260
— SO 5,000& = 4,700H4 23,500
2= oI X| 3,000& * 44,9204 14,760
02 3524l 12,504 7,788 4,716
o2 11,376
— HIRH 4703 = 3004 » 12& 1,692
—SIH 2,690& * 30021 * 12& 9,684
OoIal TVHOIZE AIFEZ 12,0008 * 12& 144
OogeE sUE 22 41,0003 = 204 = 12& 984
BYSYJH (S22l D) 123,339 121,482 1,857
ol 2| 38,411 35,982 2,429
QIESAH (XIHS=ENY HHRH) 38,411 35,982 2,429
101 @121l 38,411 35,982 2,429
03 Z2=(RI|HL)22NE~ 38,411 35,982 2,429
ORI HAZ2Z2XH(AIZEA) 38,411
—-JI=23 28,953
162 & 1,216,380& * 1H * 12& 14,597
158 1,196,330& * 14 * 12& 14,356
— JHZAH| 140,000& * 29 x 12& 3,360
— @& EIY| 2,655
1653 1,216,380 * 1Y = 55% * 23] 1,339
s 1,196,330& * 1 x 55% * 23] 1,316
—ItE4 1,680
- B S At 40,0008 * 18 = 12& 480
I EtRLIHE 100,000& + 198 = 12& 1,200
— QG 25,0008 * 29 x 12& 600
— R3S FIINHY 1,063
== 53,508& * 1 » 10 536
152 52,6683 * 19 » 10 527
—MEsgstl 50,000& * 294 100
Jl=23tl 84,928 85,500 NBT72
Jl2343Hl 84,928 85,500 NBT72

484




2N
X ZH -
L= B

el

A= X2k el ot
AH2E I (ASAtE2D)
|22 4l

SN FH-S(BN) - MBAY - B il HlnE2
201 LB-2dH| 45,968 1,768
01 At 22l 45,968 1,768

O e8| 1,000,000 * 26 26,000
O= &l 8,000& = 269 = 84l » 123 19,968
202 Odl 24,960 25,040
01 =2 LHA YI 24,960 25,040
OJIege=a80tl
20,0003 = 269 = 4¥ ~ 123 24,960
203 YR =&t 4,800 600
04 FEANSSHRF=EHI 4,800 600
ORA2EIRFaHI 400,000& = 12& 4,800
405 XHoHF S HI 9,200 2,100
01 XL 2 ZFH S| 9,200 2,100
OkLESs 1,900, 000& 1,900
OF [pSE==]=| 1,300,000& 2,600
O= A 4,500,000& 4,500
O& 30| 200,000 200
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= A
N = 0] &F AF S & AN A
2N E2ALY
M ZIKE NEEIHA
©el: 2E EERED
- _ _ RE]
SA BB (3H) - NREAY - B Ol At o %@ﬁ HRE2
TEAHEN 32,557,872 30,801,528 1,756,344
2R & XL 2,000,000 534,000 1,466,000
=T 2,000,000 534,000 1,466,000
EOHC X (=& M=t 2) 2,000,000 534,000 1,466,000
403 XX SHHS K20 & 2,000,000 534,000 1,466,000
02 2I|2SO S A2EAEAIS Y 2,000,000 534,000 1,466,000
OZXQHIC &AX 2,000,000
ANee E204 13,343,080 5,414,736 7,928,344
Algt e 613,080 14,736 598,344
C2AHALEGLEFN 13,080 14,736 A 1,656
201 et 10,080 11,736 A 1,656
01 AP 2t 2] H| 3,510 4,500 A 990
OAHEINHESAHG 22| 3,510
— 3= M 620 = 1,5000H 930
— ZeelE 2 220,000& = 92 1,980
— Ot NE tHUHE M= 200 = 3,0000H 600
02 Z2=2=24%4| 6,570 7,236 /\ 666
OHEIHEZSAI MU E QERS
4702 « 3,000AH 1,410
ORNEYZed WEEE2EY
350,000 ~ 6H 2,100
OZ2EXE FFH & |X224 3,060
— S &4l 1,346 = 130L » 120 & 2,100
— S A2l 80,0008 » 12)H& 960
203 €2 F=&d| 3,000 3,000 0
03 Al ZH =X 2= XIH| 3,000 3,000 0]
Okzd4e g2 =X 3,000
cgAd 22HE 2 sHEEZEZE HEAHE = 600,000 0 600,000
401 AIEHIZL 201 Y| 600,000 0 600,000
01 Al&H| 600,000 0 600,000
Ozd4e 22lHE & sHEEZZ EUAHE
=&l 600,000
A2 = 10,030,000 5,200,000 4,830,000
T E8S M (Rpat~atE) S22 2,000,000 0 2,000,000
401 Al HI L 2 0HHI 2,000,000 0 2,000,000
01 Al& B 2,000,000 0 2,000,000
OE8S M (RA~AE2)E2 L 2,000,000
DS H (OIA~EH) T2 E 5,000,000 5,000,000 0
401 A& HI L 204 HI 5,000,000 5,000,000 0]
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PN E2HED
dM: Y S22
Sl ARE CERED
SN FHE - B(SA) - MEAY - BHES 0l &+ o4 SSa Hl B E2
01 Al bl 5,000,000 5,000,000 0
OZZ95d(0t&~E&) T2 A 5,000,000
NERBSH(ES2UXZ) N AL 2,400,000 0 2,400,000
401 Al BIZ 201 8] 2,400,000 0 2,400,000
01 A& HI 2,400,000 0 2,400,000
OANZ13&8 & (HF2UXE)MNE A 2,400,000
NEEH(ELUNZ~ENHUXNZ)E 25 E 600,000 0 600,000
401 AIEHIZ 28I 600,000 0 600,000
01 A& Hl 600,000 0 600,000
OANZsE(ZELUNZ~EOUN2) 22 E 600,000
AtEZ 2HEIN =2 30,000 0 30,000
201 L2l 30,000 0 30,000
01 At 22l 30,000 0 30,000
OXEZ 2F I =2 30,000
sHEEZR 2,700,000 200,000 2,500,000
SHEZ 22045 (RSFE~AY) c=25F 1,100,000 0 1,100,000
401 Al I 28I 1,100,000 0 1,100,000
01 A& HI 1,100,000 0 1,100,000
OsHESR2045H (REE-HE )28 E 1,100,000
SHEZ 220556 22 (BHA) S22 1,600,000 200,000 1,400,000
401 Al BIZ 201 8] 1,600,000 200,000 1,400,000
01 A& HI 1,600,000 200,000 1,400,000
OsHEZZ2055d IIBE(BEZA) S22 1,600,000
SANHECZZHE 17,133,600 24,771,600 A7,638,000
SANAHEEZ(UHE) 8,412,000 20,000,000 A 11,588,000
QY AJIXNEUTZ(CH3-1025) HE 3,000,000 12,000,000 29,000,000
401 A& BIZ 201 8] 3,000,000 12,000, 000 29,000,000
01 A& HI 3,000,000 12,000,000 29,000,000
OLYAIIIX SUE2(U3-1028) N4 3,000,000
EHE SANHECZ(H3-25) &H 5,412,000 8,000,000 A 2,588,000
401 AIEHIZ 28I 5,412,000 8,000,000 A 2,588,000
1 A&l 5,412,000 8,000,000 A 2,588,000
EIHE TAAHEEZ2(U3-25) =& 5,412,000
SANAHEEZR(ER) 3,000,000 50,000 2,950,000
QEY ¥ TAAEZZ(F2-107a4) HE3 A 3,000,000 0 3,000,000
T AEHZXEUY 3,000,000 0 3,000,000
01 A& HI 3,000,000 0 3,000,000
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PN E2HED
Ha: CAHEEZ2HE

Eel: SAHEEZ(EZ) (&)
SA - BB B () - MM - BES Ol &t o SSa HmEET
oY & TAHEZZ(Z2-1073d)MME =3
At 3,000,000
SANHEEZ(LZE) 5,700,000 4,700,000 1,000,000
ot =& dYE=2 4 800,000 0 800,000
401 AIEHI L 2] 800,000 0 800,000
01 A& Bl 800,000 0 800,000
O3t =& =2 4 800,000
s Ll (ACUL) S 23 A 600,000 1,500,000 900,000
401 Al HI K 201 I 600,000 1,500,000 900,000
01 A& HI 600,000 1,500,000 900,000
Ogs LXel(AUL)ESZEE B A 600,000
== Y4l DISAYEZ SHEHIA 400,000 0 400,000
401 Al HIZ 201 8] 400,000 0 400,000
01 A& HI 390,000 0 390,000
Oz 42 MSIHLEZ ESHSA 390,000
03 Al 2 THHI 10,000 0 10,000
Od=230ns s 10,000
AS(AZ21-18)82TAEE HESA 3,500,000 0 3,500,000
401 Al HIZ 201 I 3,500,000 0 3,500,000
01 A& HI 3,490,000 0 3,490,000
OdME(AZ1-12)6t2XL T2 HE S M 3,490,000
03 Al S THHI 10,000 0 10,000
Od=230ns s 10,000
LOH HANSESEW FHEZ HE 200,000 0 200,000
401 AIEHI L 20HEI 200,000 0 200,000
01 A& HI 190,000 0 190,000
OXoH HANSSW FHEZ ML 190,000
03 A& S THHI 10,000 0 10,000
Odl=230E S 10,000
LES 232l ZEH= Y2 S A 200,000 0 200,000
401 AIEHI L 20 200,000 0 200,000
01 A& HI 190,000 0 190,000
OfZEg 232l =2HZ2 JLZ SHHEIAM 190,000
03 AlE 2 THHI 10,000 0 10,000
okdEzng 8 10,000
HE S AN & SHALY 21,600 21,600 0
J=lt2?ds 29 21,600 21,600 0
201 LBH2E| 21,600 21,600 0
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2N

S2AL M

M TAANEEZOHE
CHel: ALDA HTSAIYS CER-ED
SA - BB B () - MM - BES Ol &t o SSa HmEET
01 At 2t 2l 21,600 21,600 0
(OFSPNES=4 21,600
— A} HFH=Z 100,000& * 12H = 123 14,400
- MNEZESY 50,000& = 129 = 123 7,200
HHR2IZH(E=2HH D) 81,192 81,192 0
JlE &3l 81,192 81,192 0
JlE&l 81,192 81,192 0
201 L2l 42,432 42,432 0
01 At 22l 42,432 42,432 0
Ot~ 1,000,000& * 24%H 24,000
O= &l 8,000 * 24H « 84l » 12& 18,432
202 O4dl 34,560 34,560 0
01 =2 LHA YI 34,560 34,560 0
OJl=2g =0t
20,0003 = 249% « 6 ~ 123 34,560
203 YR =&l 4,200 4,200 0
04 FEANSEHE=LH 4,200 4,200 0
ORN2EYRFA 350,000& = 12& 4,200
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